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1. ¥ feerft SR o Tl ST wem

¥, o woft o fem & 2
(a) 625
(b) 400
(c) 196
(d 120

2. iz’C(n,r) T s R ?
f='0

(a 27
(b) 3"
(c) 2%
(d) 3%

3. af% = ‘MATHEMATICS’ & &1 &
fafirr w=al A o ysgay | gEiEg
frr wmg, @ = # W R W=
(erds a1 fods) €, st C & i B
Tl WGH 9 A TR A ® 7
(a) 302400
(b) 403600
(c) 907200

(d) 1814400

4. Frfofae waat = fmw Hifse

1.3f% f, ZxZ &1 @& SyEg=a
= {0, x-y) X,y € Z} T
gRmiyg 8, ML ZV ZR @&
e R

2.3 f, Nx N &1 T& ST §
St f={(xy, x+y); x,y € N} TRT
e @, A ALANINK &

o &
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.mtﬁ'ﬁ A=

IEE A ¥ IA-1/FH-F FH T
R/R?

(a) ¥ 1

(b) e 2

) 13R273mEt

(d) Tar1,7982

ap a3 apg
a;) Gz ap
a3) 43z 4z

HIT | 3R ay3=)z, ay3=2zx, az3=xp
3ﬁ1 aps, as3, 033T=ﬁ' W ShHNT:
z-y), z-x), y—x) & A A& 7A
TR

@ GE-yNz—x)(y-x)

®) G-»r-2)x-2)

) x-yez—x)y-2)x+y+2)

(d) (y+yz+zx)x+y+2)

w® fEr

L 0
.W&A*—{O cos@ sinﬂ}%,?ﬁ

0 sin@ -cosf

frafafea # 3 F-3 9t ¥ 7
1. A+ adjA & = e §
2. A7 + adjA T YA IR €
3. A-A7' U% Y ATGE ©
WY fw T g W oA W Ed W
T :

(a) Fa= 132

(b) Fad 23R 3

(c) Fae13R3

(d 1,23R3



1. How many four-digit natural numbers

are there such that all of the digits are
odd ?

(@) 625
(b) 400
(c) 196
(d 120

n
2. What is Y,2"C(n,r) equal to ?
r=0

@ 2
(b) 3"
(c) 2%
(d) 3

3. If different permutations of the letters

of the word ‘MATHEMATICS’ are
listed as in a dictionary, how many
words (with or without meaning) are
there in the list before the first word
that starts with C?

(a) 302400
(b) 403600
(©) 907200
(d) 1814400

4. Consider the following statements :

1. If f is the subset of Z x Z defined
by f={(y, x-y); x,y € Z}, then
fis a function from Z to Z.

2. If fis the subset of N x N defined

by f= {(x, x+y); x,y € N}, then
fis a function from N to N.

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

. Consider the determinant

a1 a2 a3
a1 a@pn axn
a3 a4z ax;
If aj3=yz, a3 =2x, a;3=xy and the
minors of a3, ay3, @33 are respectively
(z-»), (z—x), (¥ —x) then what is the
value of A ? ]

(@) @E-yNz-x)y-x)

(b) G-y(y-2)x-2)

() x=y)z—x)y—2z)x+y+2)
(d) (xy+yz+zx)(x+y+2)

A=

1 0 0
. If A=|0 cos@ sin@ |, then which

0 sin@ =-cosf
of the following are correct ?

1. A +adjA is a null matrix
2. A1+ adjA is a null matrix
3. A- A7 is a null matrix

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

A - DFRG-S-MTH



7.9 X3 x 3T o g B, ¥ O&
2 x 3 Fife 1 Mg R AR ZTH 3x2
Fife & g ®, ot Fafafes & &
-V FIT qE & ?

1. ZV)X @ 9 wiafseat amem =
AR R

2. Y(XZ) @& 4 wfafsedt smen =t
ATqE @ )

3, X(¥Z) Romfya =& &

¥ fow T g F wER W wE TN

Tfa ;

(a) Fa9713R2

(b) *ae 233

(c) Fas 133

(d 1,23R3

8. frm fomma el & foro o=t =
ATHe, el & OFHT & SRR € ?
(@ 0
(b) 1
(c) 2
(d) F¥aa: FAH

9, Fr=fafas waat = fmr Hifta .

1. V2 3R /5 % &= 6 avft sfg
qEdi W wgead & A
o= € |

2. 100 & B¢ wiit faww quiet =
aead Us R qeaa € |

Iwgeh H ¥ IH-E1/F-8 FU G
R/E?

(a) Faa1

(b) Fa« 2

() 13R23ml

(d qAAM1L,TE2
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10, fr=afafaa st w fmEr $ifsg .

1.244+6+..+2n=n*+n

2. FAH nP+n+4l WAS gAY
e n & U WE s
AT S ©

Igeh # ¥ FH-°1/FA-§ FIT FE@

/% ?

(a) Faa1

(b) Fa 2

(©) 13R23+t

(d FAr 1,782

11. 711 T p, ¢ (p > ¢), Temma wtaRm
Z+bx+c=0F §9 ¥, @ >0

1AW pP+q-11pg=0%8, A p-¢g
e SRR R 2

@ 3e
(b) 3¢
© 9Je
(d) 9

12. 12 ST AT UF GHAGHS & R
Wi T g9 = R, e el

oon 6 FErE lom @ ?
(@ 1+v2cem’
(b) 2++2cm
(©) 2+/3cm
(d) 3++3cm



7. If X is a matrix of order 3 x3, Yis a

matrix of order 2 x 3 and Z is a matrix
of order 3 x2, then which of the
following are correct ?

1. (ZY)X is a square matrix having
9 entries.

2. Y(XZ) is a square matrix having
4 entries.

3. X(YZ) is not defined.

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only
(d 1,2 and 3

8. For how many quadratic equations, the

sum of roots is equal to the product of
roots ?

(a 0
(b) 1
(c) 2
(d) Infinitely many

. Consider the following statements :

1. The set of all irrational numbers

between /2 and /5 is an infinite
set.

2. The set of all odd integers less
than 100 is a finite set.

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

10.

11.

12.

Consider the following statements :
1.2+4+6+...+2n=n*+n

2. The expression n® + n + 41 always
gives a prime number for every
natural number n

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Let p,q(p>q) be the roots of the
quadratic equation x*+bx+c=0
where ¢>0. If p?>+¢>—11pg=0,
then what is p— g equal to ?

(a) 3e
(b) 3c
) 9Je

d) 9c

What is the diameter of a circle
inscribed in a regular polygon of 12
sides, each of length 1 cm ?

(@) 1442 cm

(b) 2++/2 em

(c) 2++3cm

(d 3++3cm
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13. 9 Wi 4 = {7, 8, 9, 10, 11, 12, 13,
14,1516} R IR f: A > N, f(x)=x &
HeoW AWSA @S, R aifia
21 /% oRe ¥ feaw sama € 7
(a) 4
®) 5
(c) 6
d 7

14. WH AT R, N ¥ N'R @F §ag § S
R={(x,y):x,y € N 3R x2=)?} TR
yfefya R | Feafofaa # @ a9-3
T AEE ?

Laft xe NG (x,x) e R E

2. (x,y) eR=(y,x) €R

3. (x,y) € RIAR
O0z2)eR=>(x,2)eR

T fou T Fe T oW W T I

g :

(a) &ad 132

(b) Faa23R3

(c) &ad]13R3

d) 1,23R3

15. Frrafafaa w fmm $ifto .
1. ANB=ANC=>B =C
2. AUB=AUC=>B=C
IEE § ¥ F-w /A2 TS 2/
€2
(a) &ad 1
(b) e 2
() 13R 22
(d FWML,TE2

DFRG-S-MTH - A

I d= (03) yE & fou feafafaa w
ﬁﬂ'ﬂﬁ'ﬁl"{:

T e 2= 1 HE0 gt 2 7T %
16. z 1 A T 8 ?

@@ 1

®) 2

(c) 1+sin%0

1+sin%0
1-sin’6

(d)

17. &9 9 T § Afeh 2 Yga: arsafas € ?
@ 5F
(c) nm
(d) ¥ 2nn
el 1 T o @

18. V1 0 71 § OIf% 2z yga: AfiERm
27

® 5
(2n+ D
(b) 2

(c) nx

(d) 2nn

W&l n T il §



13. Let A= {7,8,9, 10, 11, 12, 13; 14, 15,

14.

15.

16} and let f: 4 > N be defined by
f(x) =the highest prime factor of x.
How many elements are there in the
range of f?

(a) 4
(b) 5
(c) 6
@ 7
Let R be a relation from N to N defined
by R={(x,y):x,y € N and x*> =)}

Which of the following are not
correct ?

1. (x,x)eRforallxe N
2. (x,y)eR=>(,x)eR

3. (x,y) € Rand
(r,2)eR=>(x,2) eR

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2 and 3

Consider the following :
1. ANB=ANC=>B=C
2. AUB=AUC=>B=C
Which of the above is/are correct ?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

Consider the following for the next three
(03) items that follow :

Let z=-l-j'-‘;§:EQ Wherci=1/-jl
1-isin@

16. What is the modulus of z ?
(@) 1
() 2
(c) 1+sin%0

1+sin%6
1-sin%0

(d)

17. What is angle @ such that z is purely
real ?

nmw

@
2n+
o) T

(¢c) nr
(d) 2nrm only

where n is an integer

18. What is angle @ such that z is purely
imaginary ?

nm
@ =

2n+ )7
(D) =g

(¢c) nm
(d) 2nm

where # is an integer
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I A= (03) uE & foru Freafafaa w w @\ (03) vl F fou Freafafea w
ﬁﬂﬂiﬁlﬁm: ﬁﬂﬂ'ﬁﬁﬂl

7 #ifg P Rt atim R 3 4% @+ qw)° & feve R W e fifvrg
WG p GATHE UG & ANHA ¢ | WA AT

O fomft s adm wwiR A B F W a 22, 3 23 3R X6 % i R & A g W
gATHS Uql &1 JNTR @ | WE g TR ?
P:Q=(5n+4):(9n+6)% |

@) p
19. A % WIH 9% & B F WAW UG & AU
L7 (b) %
() 173 © %
(b) 2/5
© 3/4 @ p*
(d) 3/5

23. YR # HeA g1 o 0T H AU T

20. % 109 9G1 1 AT T ? ® (9 WOR x H FRE wrdi # ) ?

(a) 11/29 (@ pg
(b) 22/49 ) p/g
(c) 33/59 © 4pi5q
(d) 44/69

(d) 1(pg)

21. ¢ d, A 1 9& K & IR D, B G
IR &, ot feefofes & @ <=-a1 v3a 24. T s R 22 3R x4 Tonieh SR € ?
e B ?

(@ p:gq=7:2
(a) D>d
(b) D<d (b)Pz:qz=7:2
(¢) 7D > 12d () pig=2:7
(d) I94h A & g 7 @ pPP:g*=2:7
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Consider the following for the next three
(03) items that follow :

Let P be the sum of first n positive terms of
an increasing arithmetic progression 4. Let
Q be the sum of first n positive terms of
another increasing arithmetic progression B.
Let P:0=(5n+4):(9n +6)

19.

20.

21.

What is the ratio of the first term of A4
to that of B ?

@) 1/3
(b) 2/5
(c) 3/4

(d) 3/5

What is the ratio of their 10th terms ?
(@) 11729
(b) 22/49
(c) 33/59

(d) 44/69

If d is the common difference of 4, and
D is the common difference of B, then
which one of the following is always
correct ?

(a) D>d

(b) D<d

(¢) 7D > 12d

(d) None of the above

Consider the following for the next three
(03) items that follow :

Consider the binomial
(p+gx)°:

expansion of

22. What is the value of g if the

coefficients of x° and x° are equal ?
(@ p

(b) 9p
© 5

@ p?

. What is the ratio of the coefficients of

middle terms in the expansion (when
expanded in ascending powers of x) ?

(a) pg
(b) p/q
(c) 4p/5q

(@) 14pg)

. Under what condition the coefficients

of x? and x* are equal ?
(@) p:q=7:2
(b) p*:q?=7:2
) p:g=2:7
@ p:q*=2:7
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F W (03) W F oo fFeafafaa W dw (03) v & o Feafafea w
foer $ifo . ' ﬁﬁﬂmq

W% ‘QUESTION’ R fa=R ifia : M ST A, IR 4 1 aRPE R, e

a1 92 93
25. 4 Eﬂlﬁﬂ a[% @ 'ﬁl_dﬁ Hl‘ﬁfﬁ a1 ﬁﬂﬂa; A=[021 sy 6'23] % 3?& C“’ Cu’ Cl3
Y& ST ST € © o d Wl | G
& &R (vowel) 3T 3 &9 (consonant) FA: @y, aya, ay3 B TSNS © |
®l ?

28. a1 Cy; +appCip +a3Cy;

(&) J0 M HA TR ?
(b) 144 @ 0
(c) 576 ®) 1
(d) 864 © A
d -A
26. 8 &R Tl 0 fohew wmdw T frds
952 AT S Tohd & TorH oo 3R &) O
: 2 » 821011 TantipTantiys
THRK TIMT R A B 7 e st
(a) 288 w6
(b) 576 ®) 1
(c) 1152 © A
(d) 2304 @ -A
z7.smf’rmﬁi¢rﬁm%mﬂa:moﬁm T
58 AT 1 Hehal & T it =0o U 30. |ay; ay3 a3 | FAR TR ?
| I B ? ay azy ap
(a) 5760 (a) 0
(b) 2880 (b) 1
(c) 1440 (c) A
d 720 _ (d -A
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Consider the following for the next three
(03) items that follow :

Consider the word ‘QUESTION" :

25.

How many 4-letter words each of two
vowels and two consonants with or
without meaning, can be formed ?

(a) 36

(b) 144

() 576

(d) 864

26. How many 8-letter words with or

27.

without meaning, can be formed such
that consonants and vowels occupy
alternate positions ?

(a) 288

(b) 576

(c) 1152

d 2304

How many 8-letter words with or
without meaning, can be formed so
that all consonants are together ?

(a) 5760

(b) 2880

(c) 1440

(d) 720

11

Consider the following for the next three
(03) items that follow :

Let A be the determinant of a matrix 4,

ap a;p apg

where A =[02| (%) 023J and Cu, Cu, C]3

as) ax; axp

be the cofactors of ay;, a;,, a;4 respectively.

28. What is the value of

29,

30.

aCyy + a1Cyp + a13C13?
(a) 0
() 1
© A

(d) -A

What is the value of
ayCi + apCip + aCi?

(a 0

(®) 1

(c) A

d -A

az ax ay

ay3 dyz a3
dy; Qi ap

l"

What is the value of

(a 0
(b) 1
© A
d) -A

A — DFRG-S-MTH



o @ (03) Wl & fog feafafes ==
ﬁﬂ'{?ﬂﬁﬂl:

A WY £ (x) TH B & ST AW x,y e N
HRT f(x+y) = f () f () B T IFR TIE
ware e r(1)=2%:

31. afg if(x)=2044%,€rn$rwﬁ'-m

x=2
R?
(a) 8
(d) 9

(c) 10

@ 11

5
32. Y f(2x—1) formes sRreR @ ?

x=1

(a) 341
(b) 682
(¢c) 1023

(d) 1364

33. iz* f(x) frass st & ?

=1
(@) 1365
(®) 2730
(c) 4024
d) 5460

DFRG-S-MTH - A
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Fe @ (03) uE F foe Feafafes w
ﬁ?ﬂﬂﬁq:

s favafaaag 7 awdeaia, geaiw R
Fietaid # 9gE WM fhu | FEw x BTl
(x < 6)F AT Gl § Igw fiel, IR FH 15%
BT H UeH B | 5x TgE Ao H,
(4x +15) 95F Fead F AR (x+25) W&
Fieteie | fow MU |

34, Tt &t <A1 @t # ¥ 3 o Gt A
eE fie ?

(@) 30-4x

®) 35-7x

(c) 40-7x

(d) 45-5x

iR A A A A A A D
gel #§ vgw i 7

(a) 30-6x

35

(b) 35-6x
(c) 40-5x
(d) 40-6x

foramt a1 @1 @t 7 A i wE @a #
gew fiet ?

36.

(a) 21x-40
(b) 21x-35
(c) 20x-35
d) 20x-25



Consider the following for the next three Consider the following for the next three
(03) items that follow : _ (03) items that follow :

Let f(x) be a function satisfying f(x +y) = A university awarded medals in basket ball,
f(x)f(y) for all x, y € N such that f(1)=2: football and volleyball. Only x students
(x < 6) got medal in all the three sports and
the medals went to a total of 15x students.

n
31 If 2 f(x)=2044, then what is the It awarded 5x medals in basketball,

x=2 (4x + 15) medals in football and (x+ 25)
value of n ? medals in volleyball.
(@) 8 34. How many received medals in exactly
two of the three sports ?
(b) 9
(a) 30-4x
(c) 10
(b) 35-7x
(d 11
(c) 40-7x
5
32. What is ¥, £(2x~1) equal to ? (@ 45-5x
x=1
35. How many received medals in at least
(a) 341 two of three sports ?
(b) 682 (a) 30-6x
() 1023 (b) 35-6x
@ 1364 (c) 40-5x
(d) 40-6x
6
33. What is ),2* f(x) equal to ?
.,zﬂ g g 36. How many received medals in exactly
one of three sports ?
e (@) 21x-40
() 418 (b) 21x-35
(c) 4024 (c) 20x-35
(d) 5460 (d) 20x-25

13

A - DFRG-S-MTH



e d= (03) i & fog feafafes «w
fomm $ifo

0 sin’@ cos’@
AF AT A=|cos?’® 0 sin?@| R
sin’@ cos’® 0

A=P+ QR Vel PUs gl IregE § 3K
Q& fom-wmifira smegg # |

37. Plress aoa & ?

(0 12 12
@ |12 0 12
(72 112 0

(011
® [101
(110

0 -1 1
(c) cos26| 1 0 -1

-1 10

0 =12 172
(d cos260| V2 0 -1/2

-1/2 112 0

38, O foraes s ® 7

(0 12 12
@ |12 0 12
(172 172 0

(011
b [101
(110

0 -1 1
(c) cos26| 1 0 -1
-1:1 0

0 =12 12
() cos20[ 112 0 -1/2
| -2 172 0

DFRG-S-MTH - A
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39. 4 &t GRS F <FaH 7 =R ?
(a)

(b)

(©
@ 1

I @ (03) v & foo Feafafaa w
ﬁiﬁ‘ﬁ'ﬁm:

ABC & PR @e ® S@i 4B=16m,
BC=10m 3R CA=10m R | 551 4B &
wegfag W s oguree (faset-awit @)
fera 2 | 78 duure o B W 45° @ @
Fafa Fw=ar g |
40, <fadIEe 6 FAE TR ?

(@) 6m

(b) 7m
(c) 8m
(d 9m

41. 4B frF R & ?
sinC

(@ 17m
(b) 5—30m

Blw = =

40
C —_1m
(© 3
(d 16m
42. cos A+ cos B + cos C foraes stat & 7

(@ 1

®) 31

© 3t

@ 32



Consider the following for the next three 39. What is the minimum value of

(03) items that follow : determinant of 4 ?
0 sin?0 cos?O @ §
Let A=|cos’@ 0 sin’@ | and
sin”@ cos’® 0 (b) %
A =P+ Q where P is symmetric matrix and 3
Q is skew-symmetric matrix. © 3
37. What is P equal to ? (d 1
(0 12 12 Consider the following for the next three
(@ |V2 0 12 (03) items that follow :
V2 V2 0

ABC is a triangular plot with AB=16m,

(011 BC=10m and C4=10m. A lamp post is
®) [101 situated at the middle point of the side 4B.
(110 The lamp post subtends an angle 45° at the
vertex B.
0 -1 1 . 3
) cos20| 1 0 -1 40. What is the height of the lamp post ?
-11 0 (@) 6m
(b) 7m
0 -12 12 (c) 8m
(d) cos26| /2 0 ~-1/2 (d 9m
-1/2 172 0 AB
i ?
: 41.Whatlssincequalto.
38.Whatlchqualto? (a) 17 m
(0 12 172 () 30 m
(@ |1/2 0 1/2 3
/2 /2 0 © %0. &
(
& il {] (d) 16m
{3520 42. What is cos 4+ cos B+ cosC equal to ?
(a) 1
0 -1 1
(c) cos26( 1 0 -1 v 4
ST L0 25
37
0 -12 12 © s
(d) cos20| 1/2 0 -1/2 33
-2 112 0 ) 35

15 : A - DFRG-S-MTH



I @ (03) vl & fou feafafas w 45, WAR & ww=rs g ?
fore o -

2
o g e e 3 ot 3 2 g PR Q @ ’;:g‘jn{u@g;y)}
AT A MG E R | R F g &
PR xR QNP y? (x>y) | PAR Q :
A HAR & o & S For s 150 6k (b) "'J"j“{gﬂﬁ("ﬂ)}
75°% | 243 i s
43, e | HiR @ o fomaet S ) © u_\’1+{2+ﬁ(x+y)r
27 43 x—y
@ 12 x-y By’
23 @ 2 \}1+{2 S0 }
(b) S 4
43 %.mm(—%‘—)ﬂ#ﬁﬂ%?
(e): 25X 2
4 (@ —3
@ = 3
- (®) 5
44. 7% dR w1 Adw A gFE O R @A (c) 2
cotd ToFas e & ? d) -2
= 5 7
@ 20860 1. coo 32) oo 22
117 b1
s ‘o Zcos( 17)&5(17)
(b) i A TR T
@@ 0
© 2+~/_(x+y) ® 1
(c) 4005( ?’; )cos(%)
V3(x+y) 11
2ot @ 4cos( ) cos( 5)

DFRG-S-MTH - A 16



Consider the following for the next three
(03) items that follow :

There are two points P and Q due south of
a leaning tower, which leans towards north.
P is at a distance x and Q is at a distance y
from the foot of the tower (x >y). The
angles of elevation of the top of the tower
from P and Q are 15° and 75° respectively.

43. At what height is the top of the tower
above the ground level ?

@ 7%
=y
(b) B

© =2

h|

]
|
o

(&) ===

(3]

44, If 0 is the inclination of the tower to
the horizontal, then what is cot6 equal
to?

V3(x-y)

(a 2+ Xy

_B(x-y)

(b) 4 x+y

@ 243G+
x=y

V3(x+y)

@2~

17

45. What is the length of the tower ?

Z V3(x+y)
0 52 o B

® 22 \In{z______‘@(“”

© x—y\[,+{2+_@;x+y>r

@ ’-‘:l\ﬁ+ {2—-————‘5(“”’)

(a) %

-2
g Son
(© 2
@ -2

47. What is the value of

cos( f’;' ) + cos( ;”;]

2 cos[ lll’;r ] cos( l%) ?
(@ 0
(b) 1

(c) 4““(?_{}:) cos( 1’;)

(d) 4 cos( Ilﬁ) cos[ ;;)

A - DFRG-S-MTH



48. :an(%”)mrmw%?

@@ V2-1
(b) V2+1
(c) 1-42
@ -2 +1)
49. tan™'cot(cosec12) forerss sk & ?

@ %

n
®) &
©

n
@ 3

50. o[t ABC ¥, a=4, b=3,c=2% |

cos3C foraes s & ?

(a)

B L
= Bl-

()

——
]
=]

R~

(c)

[a——
o

@

2

51. cos36° — cos72° fFas s=R © 7

@ B
5
o -¥

DFRG-S-MTH - A

© 3

@ -3

. secx =22 ¥ AR x Y wquta #

Ratar tanx+sinx & AT M1 & ?

625
(a) ~168

) -2

625
(©) 168

@ 35

. tan?165° + cot?165° o A FT § ?

() 7

(b) 14
(©) 43
@ 83

b sin[2m’r + -5—-’5) sin(2mz - 5—’[) 9 HH

6
TR W rneZ 2

6

(@ -

Blw B

(®)

(©)

Blw A=

(@



48. What is the value of tan(é-g-) T (c) %

@ V2-1 @ -3
b) V2+1 ;
_ 25 i s
© 1-+2 52. It’secxu-24 and x lies in the fourth
quadrant, then what is the value of
(d) '(W"E"‘l) tanx +sinx ?
: 625
49. What is tan"'cot(cosec'2) equal to ? @ ~Te8
343
® % ® 50
n 625
®) % © T8
343
© 7 @ oo
@ Z 53. What is the value of
3 tan?165° + cot?165° ?
a) 7
50. In a triangle ABC, a=4, b=3, c=2. @
What is cos3C equal to ? (b) 14
(a) L (c) 4\/5
128 @ 8 NE
11 :
®) 135 54. What is the value of
: 5m) .. _5n
© % sm(anﬁ 3 )sm(Znn 6 ),
where n € Z?
11 :
d) = ik
64 @ -3
51. What is c0s36° — c0s72° equal to ? ) - o
4
J5
(a) = 8 () _‘_;_
® £ @ 3

19 A - DFRG-S-MTH



S55.

56.

57.

afg 142(sin x + cos x)(sin x — cos x)=0
?, W&l 0<x<360°%, a1 x fFem v

afag & ToRA A ddT x-wE 6
gATRe fowr | 75° % S W FH g
@ F wed # fafafaa st w

faar $iforg

l.im,ﬁg(l,-z—_l—ﬁJﬁW%l

2. @ gUia: waw 3R e gata &
fem 2

IUGH W/ -9 /-8 FI G

?/8 2

(a) Fae 1

(b) Faw 2

(c) 13¥R 22T

(d FA1,T92

af p(3, 4) 3Et F 99 F ww @r-wz
1 wex fag ® A 98 Tar o weiewo s
g7

(@) 3x+4y-25=0

(b) 4x+3y-24=0

(c) 4x-3y=0

(d) 3x-4y+7=0

DFRG-S-MTH - A
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58. 8 cm ¥ AT TS wwag Py ABC

59.

F HUR AB, y-99 W 30 YR @ @

f% 4B @1 weafag, wywfag w ? ok B,
wefag @ 3R fRm 21 (8, 0) & oA
Al R WM AC & Wi @ w
avfieror T § 7

(a) x—+3y-8=0
(b) x+3y-8=0
(©) V3x+y-8/3=0
(d V3x-y-8/3=0

Hafag & TR ardt iR fdarie st
W 4 AR 6 UATHS @ FFH A
a0 &1 ¥ fom @ = fRm @, 9w
B

(@) 2x-y+1=0

(b) 3x-2y-1=0

(c) 3x-4y+6=0

(d) 2x+3y-26=0

. T iga 1 ¥ (0, 0) R & AR 3@

A e, y-am W R | afe aw dnfga
(3, 2) AR (1, 6) ¥ ToRaT & a1 Zah
Jedhgar | 8 ?

(a)
(b)

(©)

o IS e B ol

(d)



55. If 1+2(sinx +cosx)(sinx—cosx)=0 58. The base AB of an equilateral triangle

where 0 < x <360°, then how many ABC with side 8 cm lies along the
values does x take ? y-axis such that the mid-point of 4B is
at the origin and B lies above the
(a) Only one value origin. What is the equation of line
passing through (8, 0) and parallel to

(b) Only two values the side AC?
(c) Only three values B

(a) x—-+v3y-8=0
(d) Four values

(b) x+3y-8=0
56. Consider the following statements in
respect of the line passing through (€) V3x+y-8/3=0
origin and inclining at an angle of 75°
with the positive direction of x-axis : d) V3x-y-8/3=0

1. The line passes through the point
X 59. The centre of the circle passing
( \ ] through origin and making positive
2-v3 intercepts 4 and 6 on the coordinate

. i 5 2 » 1 .
2. The line entirely lies in first and axes, lies on the line

third quadrants. (@) 2x-y+1=0

Which of the statements given above (b) 3x-2y-1=0
is/are correct ?
(¢) 3x-4y+6=0

(@) 1 only
i sl (d) 2x+3y-26=0
only
(¢) Both 1 and 2 60. The centre of an ellipse is at (0, 0),
major axis is on the y-axis. If the
(d) Neither 1 nor 2 ellipse passes through (3, 2) and (1, 6),

then what is its eccentricity ?
57. If P(3,4) is the mid-point of a line

segment between the axes, then what is (a) I3_
the equation of the line ? 2
(a) 3x+4y-25=0 ®) V3
(b) 4x+3y-24=0 J5
(c) 4x-3y=0 i %3
d) 3x-4y+7=0 @d 5
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61.

62.

W e BE @ o waed
x? =3y & v 3| WeR drEr

&, wret B 1w ofid, weaem & ofid
R ® | 3l p 5@ Prgst o g A
i & 3K g il B o & A
frafafa A a sR-aradt @ 2

(@ p=¢q

®) p=+3q

©) p=2V3q

@) 2V3p=g

fag 42, 4, 6), B(-2, -4, -2), C(4, 6, 4)
AR DB, 14, 12) R fmr Hifvg |
frafafaa w94t # ¥ sF-w1 /993
TR/ 7

1. ¥ foag sma@ ABCD % i € |

2. AC %1 weafag, BD ¥ weAfeg &

T R |

d¥ fow T g2 w1 wEAR W wE IW
9fa

(a) as

(b) e 2

©) 13K 23+t

(d) Tar 1,782

. TF M & e

- LR TS S g R
fommr 6ifsrg | Frafafes & & Sw-ar/
AT R/E ?
1. & el z-3E @l & |
2. 36 el 1 &g THAA
x+y+z—9=0‘1?1aﬁ%|

DFRG-S-MTH - A
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65.

A fog
qfr

(a) % 1
(b) e 2
(c) 13K 23t
(d I 1,T82

M FE H WART I HE IR

. TF woaw, frduis et w2, 2, 1

@S ST € | 3W wHae & e
# feFpISuTd (direction cosines) FT
€2

@) <273, 23, 13>
(b) <1/3, 23, 2/3>

© (Ffes e
@ (%5
forafoafaa saat w famr it .

1. y-3@ & fegsmqua <0, 4, 0> &
qFd &

2. 2298 W e W@ & fRgegua
<5,6,0>% ¥&d §

I # ¥ A/ T
j/%7?

(a) Fae 1
(b) F 2
() 13R23i
(d A 1,782



61.

62.

63.

An equilateral triangle is inscribed in a
parabola x? = /3y where one vertex of
the triangle is at the vertex of the
parabola. If p is the length of side of
the triangle and g is the length of the
latus rectum, then which one of the
following is correct ?

(@) p=¢q

() p=+3q
© p=2\3q
@ 2V3p=¢

Consider the points 4(2, 4, 6),
B(-2, -4, -2), C(4, 6, 4) and

D(8, 14, 12). Which of the following
statements is/are correct ?

1. The points are the vertices of a
rectangle ABCD.

2. The mid-point of AC is the same
as that of BD.

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the equation of a sphere
X2+y2+z22—4x-6y—82-16=0.

Which of the following statements
is/are correct ?

1. z-axis is tangent to the sphere.

2. The centre of the sphere lies on
the plane x+y +z-9=0.

65.

Select the correct answer using the
code given below :

(a) 1 only
(b) 2 only
(c) Both I and 2

(d) Neither 1 nor 2

. A plane cuts intercepts 2,2, 1 on the

coordinate axes. What are the direction
cosines of the normal to the plane ?

(a) <2/3, 2/3, 1/3>

(b) <173, 213, 2/3>
© (F.F.F
@ . Fk

Consider the following statements :

1. The direction ratios of y-axis can
be <0, 4, 0>

2. The direction ratios of a line
perpendicular to z-axis can be
<5, 6, 0>

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both I and 2

(d) Neither 1 nor 2

A - DFRG-S-MTH



66.

67.

PORS T §RiR 9 & | afy PR=3
I =B % 9 Fg R waac d 7

(a) a+b
) a-b
© a;b

a-b
d —

A e 7 @R b o W e wlew
€ 5 d+2b IR 57-4p smE |17 3K
bydam e ?

(a)

CNE

®)

(c)

DN Wy sy

(d)

. AT 7, b AR ¢ uE B e W

o = afew €1

{(33+23)x(53—43)}-(3+23)
o sTac ® ?

(a) -8

(b) —32

(c) 8

(d o

DFRG-S-MTH - A
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69.

70.

71.

x%%ﬂﬂ-ﬁﬂﬂ% ﬁﬂﬁimm
2x% 1 +3xj+k IR 1-2f+x%k
& o 1 o e o @ 2

(A 0<x<2

(b) x<0

() x>2

(d 0sx<2

P 4BC & ofid 4, B sk c H

feufer afew s 4k, 374745k 3k
3/+3k € | B0 ¢ forads sk & 7
(@

z
6

(b)

&9

(c)

z
3

/]
@ 7

qA AT z=[y] I y=[x]-x &
Sl [] Weww quie wew € | AR x
quifes W€l & Afeh oTeAss 8, a1 z @
AA TR ?

(a) -1
(b) 0
©) 1

@ 2



66. PORS is a parallelogram. If PR=2 69. What are the values of x for which the

St 2y -l angle between the vectors
and QS = b, then what is PQ equal

t0 9 2x2f+3xf+k and =27+ 2%k
is obtuse ?
&) ats @ 0<x<2
(b) a-b ®) x<0
a+b ©) x>2
© —
(d Osx=<2
@ 52 y .
2 70. The position vectors of vertices 4, B
% and C of triangle ABC are respectively
67. Let @ and b are two ufit vectors such J+k, 314745 k and 3/+3k. What is
that 2+2b and 5a—4b are perpendi- angle C equal to ?
cular. What is the angle between a 8
and b ? @ %
7
@ % n
) 7
T
® 7 .
© 3
n
© 3
n
@ 7 o

i o : ¢ 71. Let z=[y] and y = [x] —x, where [.] is
63. 1ot a,:b aud ¢ be unit IS by the greatest integer function. If x is not
on the same plane. What is an integer but positive, then what is the

=5 0 - - o - 92
{(3a+2b) x(50-4c)}.(b+26) value of z ?

equal to ? @ -1
(a) -8 (b) 0
b) -32

Ec; g (c) 1
(d 0 (d 2
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72. afe fO)=4x+13R g(x)=hke+2 %A (cosx)" — (sinx)"
e e v L
I R ? -

@ 7 (a) +sinx—+/cosx +¢
(b) 5 (b) +sinx ++/cosx +c
(c) 4 (c) 2+sinx +2+/cosx +¢
d 3

(d) %—-Jsinx +%~Jcosx +c
73. BT f(x) = logyo(x® + 2x + 11) &1

ATH A T ? E s
@@ 0 77.3R y=ZNX 20 x;_w—Squ-t-‘sz—lﬁl
(®) ‘1 %, ?h%ﬁmﬂﬁm% ?
2 @ xr’-16
(d 10

() x-Vx*-16

74. | (x*)*(1+ Inx)dx Toas sgr=r R 2

I (c) Vx%-16
(a) *F+e¢

(d) 4Vx*-16
(b) %xzx+c

78.3f% y=(*y R, @ Frafafea # F

Risene 1 T @ R 7
@) Fx+c

@) %+xy{]+2!ux)=0

75. je‘{1+znx+x1nx}dx e SR @ 7

(b) %—Ay(l+2lnx)=0

(a) xeflnx+c¢

) Peflnx+c © %—2xyﬂ+lnx)= 0

(¢) x+efinx+c

(d) xe*+Inx+c (d) %+2xy(l+bn:)=0

DFRG-S-MTH - A 26



72.

73.

74.

(-4

If f(x)=4x+ 1 and g(x) = kx+2 such
that fog(x) = gof(x), then what is the
value of k?

(@) 7
(d) 5
(c) 4
(d) 3

What is the minimum value of the
function f(x) = logo(x*+ 2x + 11) ?

@@ 0
(b) 1
() 2
@ 10

What is I(x“)z(1+lnx)d.r equal to ?

(a) x¥+c¢
(b) %x2’+c

() 2x¥+c

@ Fx“+c

What is _[e"{1+lnx+xlnx}dx equal
to ?

(a) xeflnx+c
(b) x*e‘lnx+c
(c) x+eflnx+c

(d) xe*+Inx+c

27

76.

77.

78.

(cosx)"s —(sinx)"?
\/sinx-cosx

What isI dx equal
to ?

(a) Jsinx —y/cosx +¢

(b) +sinx ++/cosx +¢

(¢) 2+sinx +2+/cosx +c

(d) %Jsinx +%Jcosx +c

f 2

2

x+w}x2—16|,

then what s i—y equal to?

@ xVx’-16
(b) x—Vx*-16
(© Vx2-16
@ 4x*-16

If y=(x)", then which one of the
following is correct ?

(a) +xy(1+2Inx)=0

) Z-xy(1+2inx)=0

e BIS

&

© Z-2xy(1+Inx)=0

@) Z+2xp(1+Inx)=0

S
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79.

80.

81.

82.

3(sin x — cos x) + 4(cos>x — sin’x) &

ftrerem W TR ?
(a 1
®) V2

(c) V3
d 2

y=V1-x2,y=xSﬂ1y=0§m"|ﬁaz
8 & SAwe (e St #) 2

(a)

NS

(b)

=NE

(c)

ooy

(d)

sla

x—|y|=03R x—2=0gr qRag &=
T &A% TR ?

@ 1
(b) 2
(c) 4

(d 8

R f(a)=+lsecia—-1 &, A

fl@)+ £(B)
B 097 1 ki i

DFRG-S-MTH - A

28

83.

(@ fla-p)
(b) fla+p)
() f(@)f(B)

(d) f(ap)
MR f(x)=In(x+V1+x%) &, @
feaffm i s-wradi 2 7

@ f&)+f(=x)=0
() /() -f(x)=0

- © 2/ =f(=)

85.

pid
—3 X
e 2

. lim

(d) f()=2f(=x)

x foraes sk @ 2

x50/ 1-cosdx
@ —
2:}2

i
(b) 3
© 2
(d) AT = sfera 78 8

h‘mﬂ%ﬁmﬂsm%?

(@) -4

(®) -2
(c) 2

(d) 4



79. What is the maximum value of
3(sin x — cos x) + 4(cos’x — sin’x) ?

(a) 1
®) V2
() 3

@ 2

80. What is the area of the region (in the

first quadrant) bounded by y = V1-x2,
y=xand y=07?

T
@ 7
3
®) &

(©)

oo|]

@ 13

81. What is the area of the region bounded
byx—|y|=0andx-2=07?
(@ 1
(b) 2
(c) 4

(d) 8

82. If f(o:)=\fsec2a—l, then what is

Sfl@)+ f(B)
i~ @/ (P equal to ?

29

85.

@ fle-P)
(b) f(a+p)
©) f(a)f(B)
@) f(ap)

JIf f(x)=In(x+V1+x%), then which

one of the following is correct ?
(@ f@)+f(=x)=0

(b) f(x)-f(=x)=0

(©) 2f(x) =f(=x)

(@) f(x) =2f(=x)

. What is /i X 1to?
x'—':'dql-cosh S

(@) 2—};

) 2

(d) Limit does not exist

What is lim i"—ff’- equal to ?

K
19

(a) -4
(b) -2
(¢) 2
(d) 4
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ss.ﬁ:;m:ﬂlfl & X lim f(x) 89. afy y=ln2(x§—x+l] LA x=0W
X x—0 X +x+1
forad s 2 ?

@
b = foreres SR ® ?
() 1 E:) %
) 0
(© 2 © 1
(d) ﬁ%f(x)aﬁaf@raaé’ft @ 2
87. lim Si"z(””)‘smleﬁ:aﬁam 90. afy < 1”4”2 =ax+bx’ &, A
h—0 h dx| 1-x%+x
g7 frafifes # & F-aa@ 2 ?
(a) sin’x (@ a=b
(b) cos®x (b) a=2b
(c) sin2x (c) a+b=0
(d 2a=b
(d) cos2x
91. frafafas # ¥ frm wiey & =
88. WM R f(x) wH Var wew & w9 f(x) = (psecx)’ + (g cosecx)?
f&) = g) I 1) = —fx) ¥ T A A A Bl 2
AH T AGx) = (£} +{g@)} ® G e =1
Frafafaa wo=t = fier 6ifsg p
1. K3) =0 (b) cot’s=7
2. k(1) = h(2) () tan’x=pg
(d) cot’x=pgq
Iugh | A F-U1/FH-Q FIA G& g
R/% 7 92. %o f(x)= Y (x—j)* & aw HA
J=1
(a) a1 Fel T BT R 7
(b) Fad 2 (@ x=3-5
(b) x=4
(¢) 1323t (& s
(d Tdq 1,782 d) x=5
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86. If f(x)=x2+—i+|'ﬂ, then what is

lim f(x) equal to ?
x—0
(@ 0

() 1
(c) 2

(d) ;{-Im;o f(x) does not exist

sin®(x + h) —sin’x

: opual

. What is lim
h—0

to?

(a) sin’x

(b) cos’x

(c) sin2x

(d) cos2x

88. Let f(x) be a function such that

fx) = g(x) and f"(x) = —f(x). Let
h(x) = {f(x)}? + {g(x)}2. Then consider
the following statements :

1. h(3) =0
2. k(1) = h(2)

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

31

2-—-
89. Ify=ln2[x2 "“} ,then what is 2

91.

92.

o IE ==

x+x+1
at x=0 equal to ?
(a) -2
(b) 0
() 1
d 2

dx
which one of the following is correct ?
(@ a=b
(b) a=2b
(c) a+b=0
(d) 2a=b

4.8
d (:__"_.] G+ 52 i
-x*+

Under which one of the following
conditions does the function

f(x) = (p secx)*+ (g cosecx)?
attain minimum value ?

(a)

(b) cot’x=
(c)
(d)

Where does the function

f(x)= fj(x =P

attain iglnlinimum value ?
(a) x=3-5

(b) x=4

(c) x=45

(d x=5

A - DFRG-S-MTH



93.

94.

95.

T f(x) = {|x|+1] 0<|x|=3
g x=0

F el # frafafes a9 w fimr

ifora .

1. SeF & Hftraw W ¥Ed x =3
R 9T B § |

2. 5 H WHE Ieqaw  (SrEe
fafr) S x=0 W wra 2
21

I # | FH-G1/F9-¥ FGT qwl
?/%7?

(a) &ae 1
(b) e 2
(c) 1323t
(d T L,a82

I(:!n(%—l)dx o R 2 7
(a) -1

®) 0

(c) 1

@ mn2

Tfe I;jz(sin4x+ cos'r)dx=k % A
2
J'ow(sin‘x+cos4x)dx &AW TR ?

(a) k

(b) 10k
(c) 20k
(d) 40k

DFRG-S-MTH - A

/2

9. ) . (€°**sin x + €*"* cosx)dx

97.

98.

forees s & 7
é-1

e

e?+1

e

1-¢?
(o) o

(d 0
x*+y?=n2 y=sinx IR x=0

TR wow wqafy # ieg & & dawa
R 7

(2)

(a)

(b)

A!*L

|
(€]

(®)

(c)

'hlaw Mlaw .p.'ﬂu
g

|
[}

(@

Frafafea F99 ® fRr $ifig .

1. FaHe FHIHT %+cos(%)=0

WU 18|
2. ATFA GHIEHO

3

[%] +cos(%)=0

R Ffe 28 |
S9dth # q IN-81/IN-¥ F9A Gel
/87
(a) &ae 1
(b) &ae 2
() 13R 235
(d I L,T82



93. Consider the following statements in
respect of the function

|x|+1, 0<|x|=3

L i

1. The function attains maximum
value only at x=3

2. The function attains local mini-
mum only at x=0

Which of the statements given above
is/are correct ?

(2) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

94. What is L:Jn(%—l)dx equal to ?

(a -1
(b) 0
(© 1
(d) In2

12
95.1f [ (sin*x +cos*x)dx = k, then what
20m
is the value of Io (sin*x + cos*x)dx ?

(@) k

(b) 10k
(c) 20k
(d) 40k

/2 2 :
96. What is _[_ﬂr ¥ (€*®*sinx+ e*™* cosx)dx

equal to ?

(@) -1

() e“+1

(C) 1-e

d 0

97. What is the area of the region enclosed
in the first quadrant by x*>+y?=n2,
y=sinx and x=07?

W
®) Z -2
© Z-1
@ Z-2

98. Consider the following statements :
1. The degree of the differential

. dy ). &l
equation dx+c°s - =0 is 1.

2. The order of the differential equa-

3
. (d%y i N
tion (Ex-i-) +cos(-£) =0is 2.
Which of the statements given above
is/are correct ?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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99. Teifeg W ot 3R &IeTF p @R AW 102, 1 ¥ 50 7 N gl weAnsi H g F

o S I W g Fehww & ST WAT B Y Wifrewar w4 @ 2
e
7
(@) =&
(@) x%ﬂ.y:o 10
17
®) 5z
) xZ-2y=0 25
18
(©) y%+2x=0 © 25
33
(d) y%—2x=0 (d) 50
100. FEF T 103.3f > 7%, T T wfkewa &5 7
(dy — dx) + cos x(dy + dx) =0 T C(n,7) % ?
A RTE ? @ 0
(a) y=tan(%]—x+c (b) _;_
(b) )’=% (%)-JHC () %
© y=zm(-§)_x+c @ 1
104. 5799 10 gAY weamsi & wqeaa i A
(d) )’=tan(%)-2x+c 5 S0 o8 ok ¥

w1 it & 6 4% (x+y) T R 2
101. 99 e x waw » gaqel wesit

F @ @ W R SR y wAH p gl (a}%
TR F Wem @ ow g aR
§=§g-%,?hnwmwt? ) %
(a) 24

(b) 25 (c) 28-3
(c) 27 ;
(d) 30 (d 5
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99.

lwl

101.

What is the differential equation of the
family of parabolas having vertex at
origin and axis along positive y-axis ?

(a) x%+2y=0

(b) x%-&y =0

(c) y% +2x=0

@ y&_2x=0

dy

What is the solution of the differential
equation (dy — dx) + cosx(dy +dx)=07?

(a) y=tan(%) -x+C

(b). y=%tan(—§)-—x+c

)—-x-h:'

d y =tan(§-) -2x+c¢

(©) »=2tan

|

Let x be the mean of squares of first n
natural numbers and y be the square
of mean of first » natural numbers.

If i:.si, then what is the value

42
of n?
(a) 24
(b) 25
(c) 27

d 30

35

102. What is the probability of getting a

composite number in the list of natural
numbers from 1 to 50 ?

@

(b) 3%

©) 35

@ 35

103. If n> 7, then what is the probability

that C(n, 7) is a multiple of 7 ?
(@ 0

-

(b)

© 3

@ 1

104. Two numbers x and y are chosen at

random from a set of first 10 natural
numbers. What is the probability that
(x +y) is divisible by 4 ?

(a)

|

ol

(b)
) 35

@ 33
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105. W99 n €999 TAH A ¥ UH G x 108. 99 el 1 ©% aR I S € |

ATg=HAT Tt T ® | Wi @ f6 st & afte W) w2 (39) s &
o 7w x+1>2 N Hg A e 1 ® 7
?
b @ 3
1
@ 5
: ®) 2
Ly,
(b) (2n) ©) 32_%
(n=1)
B @ 1
@ 1
109. 17 IAfa TR (¥R W) Fh I
106. 7 T Tl (PR TEE) W Uw T FF W (F) 15T 15 F aftrw
IR IS AT € | T wildwar € a it w2
I R ot firw-firw wemd wefdfa f €, 1
I iR A0 (4P)H € ? @ 3¢
@ 15 ® 5
® & © >z
© 3 @ 3
@ = 110. T% =1RF % wew gy @ Wil 0-5
2 | 4vEmEt (W) ¥ =9 & 0 U 9
107. 3R P(4) = 0.5, P(B) = 0-7 3R W (fee) & wiftma 7= 2 2
P(ANB)=0-3 &, T 1
P(ANB') + P(ANB) + P(ANB") @ 3
WHAFTR ? 1
@ 06 ®-18
: 15
(b) 07 © 1%
(c) 08 .
@ 09 @ 3
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105. A number x is chosen at random from 108. Five coins are tossed once. What is the

first n natural numbers. What is the probability of getting at most four
probability that the number chosen tails ?
satisfies x+31r->2 ? 3]
@ 33
@ 5 1s
n ®) 16
®) o 53 29
(2#) (C) 32
(n—-1) 1
© = @ 3
o 109. Three fair dice are thrown. What is
the probability of getting a total greater
106. Three fair dice are tossed once. What is than or equal to 15?
the probability that they show different
numbers that are in AP ? (a) 19
216
1
8) 3> 1
1
"3 17
(b) 18 (c) 316
. 5
© 36 @
@ =5 110. The probability that a person hits a

target is 0-5. What is the probability of

at least one hit in 4 shots ?
107. If P(4) = 0-5, P(B)=0-7 and

P(ANB)= 03, 1
then what is the value of (2) 8
P(ANB") + P(ANB) + P(ANB') ? 1
(a) 0-6 | ® 16
(b) 07 (©) %
© 08 -
d) 09 @ 3
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111.

112.

113.

& T % 2w g, 3 el g ok 4
e g # | e # A 3 e &
form % € el o A 597 v e
FTet B ?

(a) 84

(b) 72

(c) 64

(d) 48

Ig & 4RE TS TR qen F SfEa S
W ¥ UF T g T AT | T Wi
21 5% 4 3% 3 e R v 2

16

@ %25

32

®) 425

64

©) 525

128

@ 625

5209 & Un R Mg A ¥ OF A
o freenr smar @ | ww e e
ot @ 7 7% a1 o v wgw o ww R
I UF T § | I Sfaw I gwrEr
fepait ® 7

(a) 9:4

() 35:17

DFRG-S-MTH - A
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114.

115.

() 17:35

(d) 4:9

f&g 100 St & @ wg=a & fmg
fare & v ofy sk ol & o &
d wEEEY I 0-7 9T T | A
dfiforg & w3 SIg IR-a R
A T A T Shifed ®d € | e
& I g W qgEeY Tk T BN ?

(@ 1

(b) 09

(c) 07

(d) 03

Tgaa & Srv faelt fomfor & & g
BN O W B wE R waw @
vt 0-6 ® | R F g
Bt @ @ Futor = & @ oER H
wifeaT 0-85 R, 3R T & B g
fmir = & v | @ @ #

wifdeRar 0-35 8 | F1 wifdear § %
Trfor &rf v W g A & o ?

@@ 035
(b) 0-45
(c) 055

(d) 0-65



111.

112.

113.

A box contains 2 white balls, 3 black
balls and 4 red balls. What is the
number of ways of drawing 3 balls
from the box with at least one black
ball ?

(a) 84
(b) 72
(c) 64

(d) 48

During war one ship out of 5 was sunk
on an average in making a certain
voyage. What is the probability that
exactly 3 out of 5 ships would arrive
safely ?

@ &5

®) 625

) 25

d) &3

A card is drawn from a pack of 52
cards. A gambler bets that it is either a
spade or an ace. The odds against his
winning are

(a) 9:4

(b) 35:17

39

114.

(c) 17:35

(d) 4:9

The coefficient of correlation between
ages of husband and wife at the time of
marriage for a given set of 100 couples
was noted to be 0-7. Assume that all
these couples survive to celebrate the
silver jubilee of their marriage. The
coefficient of correlation at that point
of time will be

(a) 1

() 09

115.

) 07

(d 03

The completion of a construction job
may be delayed due to strike. The
probability of strike is 0-6. The pro-
bability that the construction job gets
completed on time if there is no strike
is 0-85 and the probability that the
construction job gets completed on
time if there is a strike is 0-35. What is
the probability that the construction job
will not be completed on time ?

(a) 035
(b) 0-45
(c) 055

(d) 065
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T R (02) I F fu Fefafem w
ﬁ?ﬁfﬁﬁ"{:

et @vem & 508! TRT 4 Rredh 3 wre st
& Aren 3R AMS feem (SD) H¥ fiw
g

faa wfora | wifeeht | e | e
foe | =

AT 3HF 40 28 38 36

e e

(SD) 15 12 14 16

116. Frafafas & ¥ fom fawg & st =1
watfies fomro 2 2

(@) i

(b) wifeeht

(c) wrEa fasm
(d) sha fmm

117. 7 & st @1 feramor qories T @ 2
(@) 37:5%
(b) 380%
(c) 385%

@ 390%

DFRG-S-MTH - A

o dm (03) wwl & fog frafafes w
ﬁi’l‘(iﬁlﬁm:

frafafen wifga ararar dev w® @
&It ;

it 0-10 [ 10-20{20-30 30-40 | 40-50 | 50-60

aarar [ 1| 2 [ 4 | 6 | 4 | 3

118. siew it wferan (dHifeaw) w @ 2
(a) 34

(b) 34:5
) 35

) 355

119, wrferen & anie Ay fosem v @ 2
(a) 114
(b) 11-1
(c) 108
(d) 105

120. 17 & gy WA Reem w7
(a) 10-15
(b) 10-65
(¢) 1115
(d) 1165



Consider the following for the next two (02)
items that follow :

The mean and standard deviation (SD) of
marks obtained by 50 students of a class in
4 subjects are given below :

Subject | Mathe- | Physics | Chemistry | Biology
matics

Mean

Marks 40 28 38 36

SD 15 12 14 16

116. Which one of the following subjects
shows highest variability of marks ?

(a) Mathematics
(b) Physics
(¢) Chemistry

(d) Biology

117. What is the coefficient of variation of

marks in Mathematics ?
(@) 37-5%
(b) 38:0%
(c) 385%

(d) 390%

41

Consider the following for the next three
(03) items that follow :

Consider the following grouped frequency
distribution :

Class | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

Frequ-
ency 1 2 4 6 4 3

118, What is the median of the distribu-
tion ?

(a) 34
(b) 345
(c) 35
@ 355

119. What is

median ?
(a) 11-4
(b) 11-1
(c) 10-8
(d 105

mean deviation about the

120. What is the mean deviation about the

mean ?

(@) 1015
(b) 1065
) 11-15
d) 11-65
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